Math 220 (section AD?) Quiz 10 Fall 2013
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1. (2 points) Precisely state The Mean Value Theorem.
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2. (2 points) Evaluate the definite integral. Simplify your final answer.
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3. (2 points each) Evaluate the mdefimte mteg,rals
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4. (2 points) Consider the finite region R bounded by y = 3e** + 1, y = 17 — ¢** and the
>/ y-axis. Determine the area of R by evaluating a definite integral with respect to z. You

should simplify your final answer.
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5. (1 bonus point) Set up, but do not evaluate one or more definite inte ith respect to

y to represent-thearea~of R, in the previous proble
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